NO.1 100m{BAARL—

[1#H] [E28%) [X£]
1
2 JIlO#ERE TF M 1:29.20
3 BEFID TF 1\4 1:29.20
4 BREIEF] TF /N4 1:29.20
5
6

[2#48] [528x] [(X£]
1
2 BHEREE TF /M 1:31.40
3 FAHN TF N3 1:31.43
4 KMHILE TF N3 1:31.43
5 A)IMEREF TF /N4 1:29.20
6

[3#8] [528%] [(K£]
1
2 MIK[FE XF N 1:31.40
3 IFRIEK TF N2 1:25.94
4 ¥AFTFIE TF 12 1:25.94
5 mE K TF /N3 1:31.43
6

[4#H] [E28%) [(X£]
1 EAEHR BF i 1:23.63
2 IB;E 2 KER B5F 1\4 1:27.30
3 FAKIFH BF /\6 1:18.80
4 ¥EREE B5F /\4 1:27.30
5 JEFEEA R BF 175 1:21.29
6 F AL BF 2 1:12.65

[54H] [528x] [(X£]
1
2 FHEI&EA BF /M 1:31.75
3 &mnE BF /M 1:31.75
4 EFEE BF N2 1:23.63
5 £ BF 12 1:23.63

6




NO.1 100m{BAARL—

[648] [E28%) [X£]
1 £EZE BF Y 1:23.63
2 EXIEE 8F N2 1:23.63
3 BiEEt BF N3 1:25.99
4 )I|IsppE R BF N3 1:25.99
5 ERDE BF N3 1:25.99
6

(18] [528x] [(X£]
1
2 BB TF 4] 20.10
3 FEFFIF TF /M 23.72
4 REEE TF N2 24.79
5 KHEZETE TF N3 21.87
6

[248] [528%] [(K£]
1
2 EHFER XF N 23.72
JIEHE TF 4] 20.10
4 EWRETE TF N 23.72
5 JATIRIK TF /N3 21.87
6

[3%8] [E28%) [(X£]
1
2 HAE B5F N2 20.87
I EXRZEE BF % 24.00
4 FHHE BF N3 2210
5 &¥ramth BF 4| 24.00
6

[4#H] [528x] [(X£]
1
2 REN—%1 BF /N3 22.10
3 dLEHIAE BF 4| 24,00
4 i E BF /M 22.18
5
6




NO.3 25mi& k¥

[1#H] [E28%) [X£]
1
2 EREEF] TF N2 19.00
3 SHIEE TF /M 22.05
4 13 R FI TF N2 19.00
5
6

[2#48] [528x] [(X£]
1
2 £ TF 12 19.00
3 RiEREE TF /N3 20.16
4 ZFEE TF N4 21.50
5 AT TF /N6 19.85
6

[3#8] [528%] [(K£]
1
2 SEAKE BF % 22.02
3 H O 8F N2 20.27
4 EHBFKR BF /M 22.40
5 EAEAR B5F /N3 18.60
6

NO.4 25m¥ k¥

[148]) [E26%]) [(X£]
1
2 WEEE TF ha 22.29
3 BEFIF TF 12 23.13
4 EREHTE TF 12 23.13
5
6

[248] [E28%) [(X£]
1
2 JI|OfE3E TF I\4 22.29
3 WaTED TF N6 20.42
4 EAEHS ZF 12 23.13
5 BREE TF ha 22.29
6




NO.4 25mF k¥

[3#H] [E28%) [X£]
1
2 EERRE BF N3 20.52
3 KHAZEEA BF N5 20.70
4 EFE} B8F /N3 20.52
5 EWF BF N3 20.52
6

[1#H] [528x] [(X£]
1
2 ARERI&IE BF /M 17.98
3 INFRENT BF /N3 20.20
4 KEFfEAX B+ N5 18.15
5 CKREENE BF M 17.30
6

[148] [528%] [(K£]
1 R EAR TF /M 18.78
2 B/IIEEF ZF N 18.78
3 BEMETE TF /M 18.78
4 JEATIRIK TF /N3 17.20
5 BREEF TF N2 16.45
6 SHIZE TF /M 18.78

[2#H] [E28%) [(X£]
1 f&fE{F I TF 12 16.45
2 BEFIF TF N2 16.45
3 EIE TF 12 16.45
4 FIEZEE TF N3 17.20
5 BEMHE TF 12 16.45
6

[3#H] [528x] [(X£]
1
2 el BF /M 18.24
3 REB—#1 B5F N3 17.10
4 L EHiE BF 4| 18.08
5 FINE BF /M 18.24
6




(448) [F28k]) [K£]
1 HERKSR BF %) 18.08
2 ZRERN BF b4) 18.08
3 H O IR BF N2 17.70
4 _BIKE BF N2 17.70
5 SAREATR BF N3 17.10
6

(5%8) [FE#x] [K=]
1 YRR A BF N 18.24
2 EERBE BF N3 17.10
3 HEFEAAN BF Vi 17.70
4 EHEY BF N3 17.10
5 ZE# ] BF N3 17.10
6

(1#8] [F2#%] [(K=]
1 #R7<TE ZF /M 3:39.91
2 BHILME xF N 3:39.91
3 1BFE xF N 3:39.91
4 ARVDED zF N2 3:13.50
5 FafEEIEN zF N2 3:13.50
6

(248) [F2&k]) [K£]
1
2E%tHE F NG 3:42.83
3 KR zF ING 3:42.83
4 200&KY xF Y 3:13.50
5
6

(3%8) [FE#x] [(K=]
1
2 REB=E BF N2 3:06.69
SIUTHRE B5F N 3:10.36
4 IMUEEES BF /M 3:10.36
5 FIRFER BF N2 3:06.69
6




NO.8 50m/ 32754

(1£8) [F28k]) [K£]
1 FZFEDF zF N3 37.63
2
3IEARDE BF N3 38.26
4 BB BF I 39.10
5 FRARZTS BF N3 38.26
6

(1%8) [FE#x] [K=]
1
2 _FiEx F /4 45.15
3 tEEHAIE F N3 46.50
4 ERTE F N 45.15
5 LEIEE zF NG 46.50
6

(248] [F2#%] [(K=]
1 #R7<TE ZF /M 50.81
2 AR EIEH F Ji\Yi 44.72
3EllEY F \Yi 44.72
4 200&KY XF N2 44.72
5 /NEEE xF Y 45.15
6 T K zF N3 46.50

(3%8) [F2&k]) [K£]
1 EFHA BF N2 45.89
2 fEEE BF N3 45.40
3 EHER BF IN2 45.89
4 INFRESY BF IN3 45.40
5 BIRIAX BF Y 43.40
6

(4%8) [FE#x] [(K=]
1 REA@EA BF NG 43.90
2 FRZTS BF N3 45.40
SIZKE=1E B5F Y 43.40
4 WA Z B BF M 43.40
5 HHERE BF N2 45.89
6




NO.9 50mF k¥

(5%8) [F2£%] [K£]
1 AME BF N3 45.40
2 KiRfEiE BF N3 45.40
3 JREERR BF INS 43.90
4 hpgIH— BF NG 42.10
5 HHAMA BF 1\6 42.10
6

(1%8) [FE#x] [K=]
1
2 HEAHTE zF IN2 41.03
SHREE F N 38.82
4 BREIEH] zF N4 40.30
EINEG RF Y 40.30
RN SEILS zF Vi 41.03

(248] [F2#%] [(K=]
1 M AKGE L N 44.34
2 WTER zF M 44.34
3 BEHEIDME F /M 44.34
4 E—1E zF % 50.00
5 FiAM ZF %) 50.00
6 HIHE— zF b4) 50.00

(3%8) [FE£%] [K£]
1 BEEE BF % 56.84
2 BRR BF %) 56.84
3 HEIE A, BF %) 56.84
4 £EZE BF N2 37.68
5 BiEiE s BF N3 40.40
6

(1%8) [FE#x] [(K=]
1
2 \)IIEEF zF 1M 38.51
SMWHAES F Y 34.92
4 RAIREE F N6 31.31
5 EBFID TF N 34.92
6




NO.11 50mB h#

(248) [F28k]) [K£]
1
2 EEEHAIF F N3 34.48
3 AIESEF TF N 34.92
4 X)Il%E zF I 34.92
5 EZtHE zF NG 32.09
6
(3%8) [FE#x] [K=]
1 HIE—3K% zF % 43.31
2 WTER F /M 38.51
3 EFE zF N 38.51
4 ARVED TF N2 35.61
5 E—1t zF %) 43.31
6 FiAM zF %) 43.31
(448] [F2#%] [(K=]
1
2 HlllEY RF Y 35.61
3 IF[RIKK zF Vi 35.61
4 INEEE ZF M4 34.92
5
6
(5%8) [F2&k]) [K£]
1 5t BF N 35.39
2 Hllls BF N2 32.79
—EIRE BF IN2 32.79
4 FEEE BF N3 35.49
5 BRER IS BF N 35.39
6
(648) [FE#x] [(K=]
1 BiEiE BF I 35.07
2 BIFRIAX BF Y 35.07
3 B L AR BF I 35.07
4 WA Z B BF M 35.07
5 FNEFA BF N 30.05
6




NO.11 50mB h#

(7481 [F28k]) [K£]
1 BFE BF N3 35.49
2 KiRfEiE BF IN3 35.49
3 HBAHEER BF N 35.07
4 hFRIF— B8F N 30.05
5 HHAMA BF 1\6 30.05
6

(8#H] [FE#x] [K=]
1 /MUEEES B5F N 35.39
2 FNGR BF N2 32.79
3 XK B5F %) 38.87
4 %R BF %) 38.87
5 BEE BF % 38.87
6

[948] [F2#%] [(K=]
1 £FEE BF N2 32.79
2 BEXRIEE BF N2 32.79
3 JIIRFRE SR BF IN3 35.49
4 FHAEAN BF N 35.39
5 ILTRE BF N 35.39
6 AMNiE BF N 35.39

[1048] [F2&k]) [K£]
1
2
3
4
5
6

[11%8) [FE#x] [(K=]
1
2
3
4
5
6




